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Plot[{Sqrt[64 -k~2], k*Tan[k], -k #Cot[k]}, {k, O, 8}, PlotRange - {0, 10}]
100
| A |
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ouE [
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2 .
0 2 4 6 8

FindRoot [Sqrt[64 -k~2] =k # Tan[k], {k, 1}]
FindRoot [Sqrt [64 -k~2] =k #Tan[k], {k, 4}]
FindRoot [Sqrt [64 -k 2] =k #Tan[k], {k, 7}]

ouisj= {k > 1.39547}
ta

:

ouiér {k - 4.16483)
outs= {k - 6.83067)

inf6j:= FindRoot [Sqrt[64 -k~2] = -k # Cot[k], {k, 3}]
FindRoot [Sqrt [64 -k~2] = -k #Cot[k], {k, 6}]
FindRoot [8qrt [64 - k~2] = -k *Cot[k], {(k, 7.9}]

ougsl {k »2.7859}

oun= {k - 5.52145}

outg}= {k > 7.95732}




